Acknon 4

i) | X—4|K2<...<<2<x<6 .ApaA={2,3,4,5,6] katP(A) :w:i
N(Q) 10
X —4x+3<0 <1< x<3. Apa B={1,2,3] KouP(B):@:i
N(Q2) 10

(x=4)>23x—-2 ... X* —11x+18 > 0 < X e (—0, 2] U[9, +0) . Apa B={1,2,9,10]

ko P(I") :_N(F) =i
N(Q) 10
i) AuB={,2,3,4,56} ,AnI'={2} , P(Au B)=%P(Aml‘)=%
Aoknon 5
. N(A) 5
=(A— - P(A)= Y _ 2
i)A=(A-B)U(AnB)={1,234,6}, P(A) N©Q) 10
N@B) 4
A= = P(B)= —~—2 -
B-A={5} ,B={1,3,4,5} , P(B) N©Q) 10
|2x—5|<3 <= ... 1<x<4.Apa P(F)zwzi.
N(Q) 10
N . 3
ii) B-r={1,4,5},I-B={2} .ApaP(B-T)= o
i) P[(B—r)u(r—B)]—i
10
Aoknon 9

i) P(A)=1-P(A")=0,6
i) P(AUB) = P(A)+P(B)-P(AnB)=0,4

iii) P[(A-B) U (B-A)]=0,1

iv) P(I') + Plf) >-2< PPN+ 2PN +1>0< (P(I)+1)* >0 wyveL
Aoknon 11
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) PAUB) = P(A)+ P(B) - PANB) =+~ 7 =
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ii) p[(AUB)]=1- p(AUB) =1-

1 1 1

iii) p(BNA)=p(B-A)=p(B)-p(AnB) =310
iv) p(AUB) = p(A)+ p(B")— p(AnB") = p(A)+1-p(B) - p(A-B) =
1 1 11

PUA) +1- p(B)— PEA) + p(ANB)=1-p(B)+ p(ANB) =1-3+5=0

Aoknon 13

1 1 1 1

A6 ™ oxéon rou Sivel éxoupe: P(A) = §,P(B’) =5 = P(B) = E,P(AK\B) =5

I)P(A—B):%

i) P(B—A)z%

N~

iii) P[(A-B)u(B—-A)]=

iv) P[(AUB)']|=1-P(AUB) =%

Acknon 25

i)(a—2)*+(B+3)* =0 .Apa a=2,8=-3
} 15 15\5(\/2 +3) 15v5(/2 +3)
i) a)A= =— =

V5-(V2-3)  5'.(v2-3)- (2 +3) -5

B) B=v3+22 —\B3-242 =JN2+1) —JN2-1)? =2 +1-2 +1=2
yr= 3223232 =42 .25 2 =2 —}2° —<fea

Aoknon 26

SIS p=333-6)3+6) =93 ~6') = ¥/27 =3
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Acknon 27

a=\/«/§2+1—2J§+\/52+J§2—10J§=J(J§_1)2+\/(5_\/§)z=J§_1+5_J§=4
B2 3.0 93 .0%.2.90. 50 — 90 3% . WP . Wor — " —* _19g

i) A=34-3)8 = 32322 =250 =0~

4 4 1027_418/2_7:21\0/2—7

B 2

i) 8- x =4 < x=




